90 Degree One Piece Footboard Assembly

A\ 5/, / /ﬂ \7/
N4 / \ L I\u
7 \O N\ —
/ / N /
/4 Q N\
. / N\ /
e o/ Q X,
M L / \ A\
=TT / (@)
@ o (=2 N
VAN /N Y\ N
C) VRS ¢ — N
g Am 9) \mw N A () V |
e I -
VY =N\ \w(\ /
A/
- & MLV
NN Fa g
NN % // /
— NN & // /
~ & A\ N/
(e &L NN\ / /
S— " AN N A Vi /
. A\ \\ \\
N / = /
- Y\
/ 5/v SN N /
w—8_ /) /
7 v / \ /
_ \\\sﬁ\b\ 55/ \\ \ \ \\
=7 L AN /
N C 7 \e / /
[ o~
,/(\/// \V\} A J
o \(®
@ \

2 e a & & &

oA
R
\ \ /
oV

TN
Lov) (en )
_/ N

Legrest tube

reference only.




90 Degree One Piece Footboard Assembly

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1094014-NLA | NLA - Footboard Assembly, 90 Degree One Piece 1 1
(14" W - 16" W)
1 A 1094015-NLA | NLA - Footboard Assembly, 90 Degree One Piece 1 1
A7"W - 24" W)
2 1091547-NLA | NLA - Cam, Mounting Bracket, Upper 1 2
3 1025705-NLA | NLA - Screw, Hex Head (5/16-24 x 3-1/4") 1 1
4 1089296-NLA | NLA - Pin, Detent (5/16 x 3") 1 1
5 7930330-NLA | NLA - Locknut (5/16-24) 1 2
6 1090552-NLA | NLA - Bracket, Upper Mounting, Black 1 1
7 1026032 Washer, Nylon (11/32 x 11/16 x 1/16") 1 2
8 1089300-NLA | NLA - Tube, Legrest 1 1
9 1074210-NLA | NLA - Washer, Nylon (23/64 x 3/4 x 5/32") 1 2
10 1028835-NLA | NLA - Cap, Hub, Black 1 2
11 1028491-NLA | NLA - Washer, Caplugs (11/32" I.D. x 1" O.D.) 1 2
12 1090551-NLA | NLA - Bracket, Footboard Pivot, Black 1 1
13 1058517 Clamp, Footplate 1 2
14 1027097 Plug Button, Black (3/4") 1 2
15 1029545 Screw, Socket Flat Head (1/4-20 x 3/4") 1 4
16 1082686 Nut, Barrel, Hex Head (1/4-20 x 11/16") 1 4
17 1090553-NLA | NLA - Footboard, One Piece 90° (14" W thru 16" W) 1 1
17 1090554-NLA | NLA - Footboard, One Piece 90° (17" W Thru 24" 1 1
W)
18 B 1092914-NLA | NLA - Hardware, Mounting, 90 Degree One Piece 1 1
Footboard
19 1039860 Screw, Hex Head w/ Patch (5/16-18 x 3/4") 1 3
20 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 3
21 C 1095356-NLA | NLA - Kit, Footboard, 90 Degree One Piece (14 - 1 1
16" W)
21 C 1095357-NLA | NLA - Kit, Footboard, 90 Degree One Piece (17 - 1 1
24" W)
D,E 1094558-NLA | NLA - Instruction Sheet, 90° One Piece Footboard 1 1
Assembly
NOTE: A -Includes Items 2-17.
B - Includes Items 19 and 20.
C - Includes Items 1, 18 and Instruction Sheet.
D - Not Shown
E - Item is no longer available from the Invacare Service Parts Department. Refer to the Invacare Website under "Product

Literature Search". Enter the part number in the "Keywords" field and download a free PDF version copy.

NOTE: When converting to a 90° one piece footboard assembly that was not originally ordered with a chair, a notched front shroud to
give legrest tube clearance is required. Notched front shrouds became standard on all chairs after 2/17/00. See shroud color
conversion kits for chairs manufactured before 2/18/00. Seat pan attaching hardware (part # 1094381) must be ordered as well.




